5:"']53:%1 oSy F P e —
TH 2 6 FEBBETRENQLOBBAERR (WhEHK)

No. 2 % KEREAEE
" T4 awn | xp |EMRE _
’ g |ZFERE| L2 TEMERE EEAER
o | $AF BAR BRE RE Ss il R L L mi:f _
R TESEE (m)  (em) (B  (mg/L) (Ba/L) (i) IR ] g;@ﬁﬁrg
7 id_g__:r’]%ﬁ/m NhEm 2670 (Ba/L) X EKE iE) v
3 AED KR B it ChbEm THG. 18] B 0.23 0.30 s 1970 134 137 (cm) (%) (Ba/ke) *® sz
2 E;;gxaﬂﬁﬁ;ﬁ ChEm H%gH}g 'EHE 015 030 g}g g; 9 7 4 . Cs Cs 1340 197
e . — AN TREE - . — s
5 MR t:2§:1 H26.11.2 | & 8}2 5-60 0.50 77 g ; <1 <1 - - 6 25 90 NEEY
6 ATV L\_O%EZ H26.11.2 | B 033 028 0.10 G0LLE i 1 <1 4 - - 5 60 7. 300 77300[25 =
7 _|BER (F) L\_O%EZ H26.11.2 | &% 018 2 0.10 78 7 r a4 <4 - - 10 65 3400 1T 000[fE B B
8 [dtAR L\_y)%fz H26.11.2 | B& 08 60 0.10_ 60LLE 7] T <1 < - — 3 57 450 17500 s%é“
9 [BAR o %53 H26.10.31] B 073 0.60 __0.10 60LlE 7 < a - 70 64 04500 L
10 [GE nbe H26.10.31] & 008 0.40  0.10 41 . 4 <1 4l = - 6] 58 7700 3.50 fESR
11_BRT L\?%EZ H26.10. 31| TRER 08 0% 070 %0 7 ! < 4l = - 5[ 50 1.000 3‘20@%*@“
7 TKE L\_’)%E H26.10.31] k5 039 030 0.10 60BLE 7} 6 < < = - 10 37 220 '7?10 BER
I3 Lhem 6. 10.91 TEE | 0.23 130 050 40 10 = < < = - 3| 38 T Er
14 [Xit@ L\_"%[j H26.10.31] B5 5% 0.35___0.10 0 =7 ‘110 < 4 — - 10 51 480 1'408 ERE
HEERE TG L\_”%zz H26.11.3 | & 9.2 0.45__0.10___42 . 9 <1 3 = - 10 70 T500 4 600 L L
S hbEm W6 ILIT 5 01030070 29 i " < 4 - T 4 A T
17 B/ L\?grz H26 11. 11| 5 L 0.30___0.10___ 31 T 1; <1 3 = - 10 58 8101 7,600 L
TRETT] 5 2% 7 K R | B N 1 Ear
Fig e 1.2 & ) - - - - <1 - - 70 . B5IR
20 & 'E:_’fé‘[} Ho6 113 8'}3 0.50 _0.10 60LLE 3 - - = = - 8 40 1’338 4'920 ES R
o 5 Rl S W 3 RN e
I8 5] L2 B ' : - - 66 e Nk TERANEE
23 |KF LWhEd [ H26.11.2 :; 0171 060" 0.10 2 1 72 aq -+ - = R L2 3,000 ER FEB KD E KR
24 BT (1) 'C:?%[z H26 11.2 | 15 DT 0600 07076 . 12 4 q - o I 1.200 3500 BER
% |EX L\P%rz W26 112 = s 050 0.10 6OLLE 3 ! < < = - 121 56 8302900 BRA
26 [ KR (F) L\?%ﬂz H26.11.11] 88 5 0.20 __0.10 60LLE : 3 < a - - 10 60 890 2800 ERE
2] |&A (F) L\_”%jz W611.2] = = 0.30__0.10 __ 83 3 2 < < = -f 101 68 850 2,900 BRa
S R e s S
X2 _10. & : : . - 7 . B5R
CNET 2% LhEh AR D12 050 0.00 % - 9 < 4 S <1 B
3 [=H t\?%[g W6 113 & 5 0.50___0.10_3I 10 ]2 <1 rq - - 12 6 200 2~}gg#§%§n
32 &% L\_’fé[g H26.11.3 | B 017 0.20_0.10 40 7 10 < a - - 12 54 270 300 ERR
33 [~ L\_o%rg W26 11.3] & 5 030010 66 7 0 <1 q - - 7 61 0 ELL
34 |ERRfE L\?%‘:‘ﬂz H26.11.3] B 570 0.30__0.10 43 9 18 < < = - 5 78 470___1.400 BoE
35 e Lsm (Mo 1141 5 [ 06 S B CSINS - o 0 R T
36 [mfE L\_’fé"[g H26.11.3 | B R 0.30 _0.10 79 13 T - - = - 6 54 450 1'408 BRI
37 |[FHE L\P%[g W6 1T 3| & o 0.60__0.10 45 5 8 < a - - 5| 48 530 200 BEE
38 [FF oEh | A6 115 #h . 0.50 010 36 ; 5 < 4 - - 5 3 10 2B TEEAFE K
9 55 WhEm | A6 113 o 0.50 010 68 : 4 <1 rq - - 10 34 220 460[E5 2 AR BRAKAE
MEZ ) LhEh [ 1136 01T 050 010 %0 > 1 4 a = = IV T U MUl
41 [REREA L\P%[z A26.11.12| ™ 07 0.50__0.10 2 7 45 4] <4 - — 12 53 390 1'308%%%
7 [ERA (T L\-°§53 w6113 & 0. 0.35_0.10 70 h 1 < 4 = 12| 54 S5 .30 BBl
43 [F A LpEm [H26 TT. 141 (A 0191 0600 010 5% 3 4 < 4l - o 121 48 250 ol Ll
44 BOR L\_’%f‘j H26 11 14| tRe& 559 050 0.10 61 7 6 <1 < = - 10 66 7607 300 Ea
5 [RH bS[0 LTI 18 0191030 010 42 ! 4 < 3 - 12 60 I
6 =BT L\-°§53 26 11 11] 5 060 010 87 : 10 < < - = 10 66 1, 300 4‘008 BLR
41_Ete () Lbgim [M26.TL13 % 0201 050 010 % 13 2 1 < - - b 72 1.400 4,500 Bha
48 [/ L\,” i [H6 11.11] B% 530 050 0.10 28 3 2 < < = - 8 7 1.600 5400 BLR
9 5% (& L\_’Fé[g H26. 11 11| B 578 040 0.10 3 73 6 < rq = - 12 75 083 L
50 [hNE LoST [HE LTI 38 028 050 00 @0 5 14 <i 4 - 7068 bR
5T [ SEEE M L 027 0.40 0.0 97 7 8 < 4 - 2] s BE
52_[chig L\?g[g K26 11.12] /@ e 0.60__0.10___62 7 16 < < = - 6 58 720 2'488*5%%
— e ST
Z{E (F) el 1112 = - : 10 17 a — - 73 1 . E5R
5 [BOf t:_’>§[3 2611 11] #& g;g 030010 15 }ﬁ ]g < < = = 81 1 ggg ??88 BRa
56 [#%iR (B L\,"%[} H26.11.13] 5 oo 0.60 _0.10 60BLE 1 < rdl - - 10 63 7,100 3.600 LT
57 B L\_’> i [H26.10.18] s T 030 0.10 27 5 1 < q = - 10 64 R ER
58 |NH ")g‘rz H26. 11. 13| REE 0T 0. 20 0.10 34 7 7 <1 q — - 6 58 570 L 00[tE &R
b=t [H26.11.13] s 19 030 010 10 9 4 q 1069 1, 700255
B 0.20 0.4 2 3 - - 700 7 100[2 & 8
.45 0.10 63 7 4] a 8 79 20 EEE
4 <1 = = 6 1, 300[E8 5
< - 65 470 =
- 51T 76 1, 500282
7100 3.400i2B 8




AR FR2 6 FERMEETRENDE-OMRAERER (LWHEHR)

KEBIERER EBERERER
- MEEMERE  BREAEAUMERE R ERE
. N o 78 _ ==
No. £ miTe | MR | KR |XORE) sae mam mmE O BE SS (i@ (Bi@i) BB gk (FZEE) ES RS 5%
() (m) (om  (®) | g/ (Ba/L) (Ba/L) RS | a6 (Ba/ke) §
13408 137CS 134CS 13708 (Cm) 13408 137CS
EEEE: Lh=Eh 5
T e ————,—
g; %i‘ﬂi (;F) Oh=Eih  [H26 11.13] TREE 0.21 [ __0.30__0.10 5 100 140 2 ?1 <) ) g ié 428 T igg EE%
X2 (F WbhEH . 10. ) ' eh
e s
THEES b= [H26.10.16] & 0.12] 050 _0.10 74 6 5 3 8 - - 2 = s
5 = U= |H26.10.16| & -/ 009 | _0.30 010 52 3 7 4 4 - - : 5 o0 BER
66 [ AEHE W= [H26. 11. 14| 1REG 0.20 - = = = 4 < - = : y e
AREEES b=t [H26 11.14] TRE& 0.14 [ _0.60] _0.10___50 7 3 T - - : 2 S0l TT00LERR AEFINR A
68 MR (1) Uh=ET [126.10.30] 1 0.13] 060 000 79 3 2 3 8 - - : 5 R
69 [fEIkfE U= [H26.10.17] & 0.14 | 040 _0.10 25 72 20 4 4 - - g 5 T
70 [fERF (1) UhEm [H26.10.17] = 0.15 ] 050 _0.10 30 7 10 21 oy - - : o i oy
E=S b=t |26 10.17] 15 0.11] 030 _0.10 33 i 10 ] 4 - - : o O BER
T2 |BR Vh=t_ [H26.10.16] 1 0.15 ] 030 _0.10 30 12 2 3 oy - - 2 3 0 R
73 B U= |H26.10.16] &5 0.16 | 030 _0.10 20 11 26 4 4 - - : 5 O I BER
74 =8 Uh=Et [H26.10.17] B 0.12] 040 _0.10 37 3 7 3 8 - - : 67 ek
75 B4R U= |H26.10.16] &5 0.16 | 050 __0.10 __ 33 16 77 4 a - - : % %0 SRR
76 |mEfE Uh=Et [H26.10.17] B 0.17] 020 _0.10 39 7 6 3 oy - - : i o TR
77 [Fi2 Vb= | W6.11.6 | B 0.1 0.60_0.10 52 6 2 g 4 - - 5 % o e
78 DT (1) Wh=Ei | H26.11.6] 85 0.13] 050 010 35 15 10 < - - 3 5 T Tl
79 A& Vb= | H26.11.6 | & 0.1 0.60__0.10___ 36 14 4 4 - - ; & e T
80 |58 Wh=Ei | H26.11.6] B 0.10 | 3.20__0.50 31 11 7 S S - - 2 5 o OSEE
ESCES Uh=m | W26 11.4] & 0.13] 060 _0.10 83 5 1;3 4 4 - - : % e
82 [ShAAER Lh=ih | H26.11.4] & 0.10 [_0.60[ _0.10 34 8 9 4 < - - 2 % ool
83 _|EH Vb= | W6 1.4 & 0.15] 070 _0.10 54 3 4 4 - - 2 % RSO T
84 |4k Lh=i | H611.7] & 0.13 | 060 _0.10 69 5 1(5) S < - - . 7 o —soolaek
8% [&x Vb= | H26.10.5 | & 0.05] 090 010 5 13 i 4 4 - - : G 5 e
86 _|BAE Wh=Ei | H26.11.8| 1 0.13 | 050 _0.10 48 8 9 S < - - ; = 250 OBEE
87 [kHE (T) VhEm W6 1.7 & 0.15] 050 __0.10 __ 63 2 4 4 4 - - : % MRS
88 ;&L fE LhEm [ H6.11.8] 1 0.18 | 0.50] _0.10 BOELE i 4 < - T 7 TR
89 [EE U= |H26.10.18] 5 0.21 0.50__0.10___ 26 18 : 4 4 - - : 9 A SOl F T
90 |53 Wh=ih_ |H26.10.18] &5 0.5 030 010 3 10 2 4 < - - : o 20 SOSCE
91 76K Ch=m | W6 11.7] & 0.07 [ _3.90_ _0.50 60LLE 1 . 4 4 - - : o T — ek
9 [8EF LhEi | W6 11.7] & 0.14 | 050 010 __ 49 7 g S < - - 3 3 %0 CEE
93 _[FE Vb= | W26.11.8 | & 0.1 0.50__0.10_ 6OLLE 7 2 4 4 - - 5 o 2 T
94 [mAR Wh=ih | H26.11.8 | & 0.17] 030 o010 __ 12 98 81 4 < - - 2 5 T SoleR
9 | MRl Ch=m | 6. 11.4] & 0.14 [ _0.60_ _0.10 60LLE 2 3 4 4 - - : -  EERLILET
96 %/ A Lh=Ei | W6 11.7] & 0.15 | 060 _0.10 __ 56 6 16 S < - - 3 % stk
97 [kEfE U= |H26.10.17] & 0.13] 020 _0.10 % 13 18 4 4 - - : N L — e eE
98 |[FEMA Wh=ih | H26.11.3| & 0.10 [ _0.60[ _0.10 36 10 13 4 < - - 3 % ST I e
99 [Z/ R b= | H26.11.3 0.10 ] 070 _0.10 26 16 4 4 - - > = ek
100 [#3R Wh=ih | H26.11.6 0.11] 0.60__0.10 71 8 2 S < - - . 5 MR T
01 [8nk L= | H26.10.4 0.14] 030 010 62 17 - 4 4 - - : 3 SRR
102 [EAm Wh=ih | H26.10.4 0.15 - = = 2 < < - - 2 ﬂ ?1218 g?g iggé ER
03 |25 s - = - - - B E REEKA B BKAn
103 ;;ﬁﬁ t\ggg :gg}gg z 8}; 050 010 87 z 3 4l 4l = = 10 67 180 500[iE B KO RATE
105 [ R AEFE Lh=m | H26.10.4| = 0.10] 080 010 85 7 T - - : 5 a0 T HERANR AR
106 [Z D LhEm [ H26.103] & 0.13 | _0.50] _0.10___90 2 : 4 < - ST STl
107 [AZH UhEm | 126.10.3 | B 0.10 | 050 _0.10 43 3 12 4 4 - - 5 n ool
108 [ K&k (&) Wh=ih | H26.10.3 | & 0.10 | 040 010 75 8 2 4 < - - 3 % SR
109 |3 Lh=m | H26.10.4] & 0.09 180 0.50 76 2 ; 4 4 - - 0 5 S — ek
110 [@5 WhEih | H26.10.4| & 0.00 200 050 5 2 2 S < - - 7 A % SaER
(NN Lh=m | H26.10.5| = 0.10 170 0.50 67 6 : 4 4 - - 0 b o — Lt
2 =8 Wh=i | H26.10.4| & 0.00 040 010 8 13 3 S < - - . 6] 7 SR
113 (4.5 Lh=m | H26.11.3]| & 0.09] 060 010 36 8 s 4 4 - - 2 5 e
RS Wh=i W26 11.11] = 0.00 045 010 5 3 12 S < - - 5 2 IR
115 [ELC (P Lh=m A6 11.11] = 0.09 | 035 _0.10 44 70 2 2 2 - - 12 % ggg }%88 e
116 [DOFER Lh=ih | H26.10.5] ® 0.11] 080 010 75 8 i < 4l = = 10 59 380 1,200 %giﬁi




AR FR2 6 FERMEETRENDE-OMRAERER (LWHEHR)

KEBIERER EBERERER
- MEEMERE  BREAEAUMERE R ERE
o ==
No. £ # miTe | MR | KR |XORE) sae mam mmE O BE SS (H3BAD) (HiBi) gl PP (FZEE) ey EL %
o | e | el (Ba/L) (Ba/L) B 500 (Ba/ke) "
13408 137CS 134CS 13708 (Cm) 13408 137CS
17 [#8 LWhEH . 10.
e [ e ) N be ot I T R A R I I R R E I — L
719 [FE® (E) b=t [ H26.10.5 0.10 [ 0.30] _0.10_ 56 8 13 < S - - 3 2 o T
120 (2 A Uh=E | H26.10.5 0.09] 060 _0.10 _ 44 9 13 1 oy - - 2 = T HER R
121 |#aLl Vb= | 126.10.4 0.07 ] 030 _0.10 30 5 5 4 4 - - : o 2 aen
122 [FEF (&) Uh=Ed | H26.10.5 0.09 ] 030 010 2 28 76 4 4 - - % 38 o HERE
123 [RFE Uh=mm | H26.10.3 0. 11 0.90__0.10 45 14 4 <1 - - 2 5 AR T
124 [AEF b= | A26.10.3 0.13 - - = = 1 - < - - 12 3 e — L eHER
12 |BR (BKEE Chem  [H26.10.31 029 - - - - - - - - — % e i
12 R i Hze. 10. 31 0.29 - - - - - 5 i 1,700 4,800[t2B 18 SAERIKHAE KA
127 [|RA Lh=m | H26.11.2 0.15 | 0.50 018 60»121 2? 2 4 <1 - - 15 o A — e
128 [/ R () b= [ H26.11.2 0.14 - = = 2 < < - - g (35(7) 1;8 328 ng—
1 it} . — — - - SE 8 £ 2 N 4HE 5 S
3 B R e e e e e
31 8% nhEm [ W6 1i6] & 011 - T— L = = - - - 0 Solien :
}gg ;EIL 1'& WhET  [H26.10.17] & 025 020 070 40 3 8 4l 3 - - ? gg ‘2‘?8 1288 Eg'z BEMACTR CHATE
i ) Lh=m 0. £ - - er
4 [A) R O N s o o i st i T OILeR
135 [R_(T) Vb= | W6 1.4 & 0.15] 030 _0.10 16 11 18 4 4 - - : o T — s
136 [ A WhEm | H6.11.4] 014 - - - - - = = - - - MLt 1] :
IS0 IEE om0 TLe] i 014 - - - - - - = = = 51 36 180 610355 REE KA E AR
ISTI5E LhEm [0 L] 0 — = = = 5 39 140 160[iEEE SR B KA < BRI
139 [@fE Cheh (W6 T3 & 0.15 | 0.50 018 ig g . 4 4 - - : H L — gk
140 [hfE Wh=i | H6.11.4] & 0.19 ] 060 010 75 4 g S < - - : 5 o e
141 [tk Lh=m W6 11.11] & 0.19 ] 045 _0.10 58 5 3 4 4 - - : 5 o e
42 (& e (F) LhEm (W6 1T.12] ™ 0.25| 050 010 68 4 6 21 3 - = H T RN
m :iu/*gs UhEm (26 11.11] &= 0.17] 030 010 % 10 8 <} 2 - - 1(7) %1 ;28 %?88 gg’:\
LD x , =]
-
46 (&5 Wh=i |26 11.12] ™ 0.23] 030 010 70 1 Zt S < - - : 5 L e
47 [&/ R Lh=m |26 11.12] & 0.19 ] 040 _0.10 83 5 7 4 4 - - : o r—lmar
48 [KFaA LhEm (W6 1T.12] 0.11] 055 010 % 5 6 S < - - - 2 ek
149 [ fE Vb= |26 11.11] B 0.26 | 040 _0.10 45 9 i 4 4 - - : = 2 e
150 [B/ A Wh=i [H26. 11.11] & 0.24 | 0.40___0.10 GOELE 1 3 S < - - : 3 5 R
151 [ H AT Vb= [126.11.13] B 0.16 | 050 _0.10 32 5 [ 4 4 - - : o 2 e
152 |sedi Wh=i | H26.11.3| 15 0.20 [ 050 010 18 26 5 S < - - 3 5 L
153 |ZHAM Lh=m |26 11.4] & 0.22 ] 050 _0.10 49 7 0 4 4 - - 2 5 iR
154 (B 1k Lh=i W26 11.11] = 0.23] 040 010 3 20 lﬁi S i - - 5 % R
155 [t fe (&) Ch=m | W26 11.4] & 0.23 [ 0.50_ _0.10 60LLE 1 4 5 - - . o e
156 &35 Wh=i | H26.11.3| & 0.17 ] 020 o010 14 18 3 S < - - : 5 AR
157 [fEDA WhEm [ H6.11.3| 0.27 - - T— < = - - - BT I
158 AR Lh=l | H6.11.2] = 0.10 | 030 010 % T - - 2 5 L BEBANR A
159 [i&#r b= |H26.10.18] 5 0.13] 040 _0.10 13 52 : 4 4 - - : 3 o e
160 [A4E Lh=ih [H26.10.17] = 0.16 | 030 010 45 6 ?(7) S 4 - - : 3] 5 i
161 [SEA Lh=m [ W6 11.7] & 0.12] 060 _0.10 43 5 4 4 - - 5 5 3 S
162 |75k Lh=i | H6.11.4] & 0.08 | _0.60 010 40 7 S < - - 0 = TN
163 [0k Ch=m |26 11.7] & 0.10 ] 030 _0.10 18 79 817 4 4 - - 2 o S—ioorgk
164 [ BRRT Wh=ih | H6.11.4] & 0.13 | 060 010 _ 68 2 6 4 4 - - : 50 R i
165 [giE Vb= | W6 1.4 & 0.14] 050 _0.10 45 7 7 4 4 - - = o R
166 _[F50h Lh=ih | H6.11.4] & 0.13 ] 050 010 13 37 3 S < - - 2 5 2 o
167 |84 Lh=m | W6 11.7] & 0.16 130 0.50 29 13 12 <] 4 - - : & R
168 |J\ER Lh=i | W6 11.7] & 0.0/ 050 _0.10 80 5 9 2} < - - : 3 R
169 |KfE Vb= | H26.11.6 | B 0.18 ] 050 _0.10 29 33 97 < 4 - - : % 5 e
170 [ BE Wh=i | H26.11.6 ] & 0.13 | 060 010 48 5 6 : 3 - = 3 G R T
RIS UhEm | H26.11.6 | B 0.1 0.30__0.10 _ 28 4 5 4 4 - - 2 o e
72 |88 Wh=i | H26.11.3 | & 0.10 | _0.60 010 35 2 10 S i - - 3 5 % RN
173 [ A UTE Vb= | 126.10.4 | & 0.10 1.80] _ 0.50 GOLLE 2 2 2 2 - - g g? 5;8 15(1)8 g%%
AR Lh=ih | H26.10.4| & 0.11 120 050 38 10 12 < 4 = = 2 73 2,400 7,200 Egﬁ




A T ik [ P B T h =
w1 T2 6 FEMMBIETREND-OMAERE (WO EMHX)
KERER _
No £ oo Eff‘ﬂ%ﬂ%ﬂi%ﬁ‘“r‘ iy ERATER
. g TR 5 = | ZMR=E . TEV)H = T E R : prpe
IR | RE | T oo | KR RARE BEE BE SS (5380 (BiBi%) 1R - MET%@S’EE -
(m)  (m)  (em (B  (mg/L) (Ba/L) Ba/L) gx |BXE RS e e =
: (cm) °
175 B/ & WhEmh E Yes  es Mes Mes 134 137
176 |2 e e TS0 4T it R 3 4 < - e e
HZ; ;‘EE{{EWT Lh=m [ H26.10.6] & 0.12 . 6 2 < < - }g 257; §28 S0 EER
I LhEm [ A6 17 ' 9 5 = - - - - - 1. T00145.5 2
VAEN LbEm G/ . 0 O O . 3 7 & — - T8 050 Egtzf AREADR AR
UhEd | H2b. & ' ' - < - 552
181 [ASE NpEe e 03 T T 0031 LSO 0% 10 5 7 o 4 - 1070 040 300058
TR T Lpem_[Igel0.31 0091 180 05077 5 1 4 4 - 5% 420 1.300[a5%
183 [#riL bzt (M6 104 & 0.0 0.0 010 GOBLE 12 16 4 i} - 12| 50 500 7 100/l B
184 [m@ (T) hEh [ H26.104] W 0.10 03 010 8 14 19 < 34 = 101 o 250 190268
185 [AHT Chem (W6 105 % 50 1.90] 050 79 7 7 q 4 ~ 121 6 730 2. 200[eBE
B Lheh [ H6.104] & 0og[ 1301 050 T T K < < = 10 N 350 0[S R
157 55 A 21 A WD 0.17 0.50[ 0.0 40 17 20 3 < - 12 69 640] 1,800 BE
188 [/ Ve ChET e T T2 .0 0.90] 0.10 58 3 7 q r - 3 53 230 T30[EE B
189 (5K (E) e e T o 7 8 < a - o1 %6 250 eMOfEBE
190 [E/ A () Ch=Em [ H26.105] ™ 008 050 = = ~ - - - - 1(6) = 20 1300 BRE
107 [EiR R e 0.0¢ 50 __0.10 4 5 1 34 4 = N 60 180[18.5 2 FEB KD TR
192 (28 (&) hEm M6 T3] W R s Ty 4 6 4 3 - 10 990 3 000[E& R
193 (258 (F) CherTHE 0 ST & 0. 0.30__0.10 60BLE i il < a = 7 58 300 T 100EBE
104 (5 / 7 hETH o6 T0 8 Fﬁ - (])9 0.20[ 0.10 60KIE 5 g q rd - 5 50 <10 20/ 5 B
195 [¥7F LhEth [ H6. 104 & Ll e Gl 5 7} 4 a = 116 280 95076 8
196 [%47 Cham (M6 104 & 0131050 0.1 GBLE 3 1 < < - 121 6 300 wERE
197 B8 Chsm T 0 0.14 0.50 0.0 42 7 3 4 e - 8 11 7500 2 40058
198 [3%)1 nhEm [ W6 105] & R . 8 4 4 - S 810 2 J004EGIE
199 |5 18 Wb [ H26.103 ] i T e 18 < 4 - 101 6 280 900[tE B &
200 [ hEd [ H6 103 W 0 060010 3 27 39 4 a - g 10 20[ES R
OmET LhEm [0S H 0131050 010 39 5 5 3 -+ = T2 68 710 860358 1
200 (BB R 00108 B S X N 7 10 4 4 - 121 691 1,500 4 /00lmRin
203 9% W& [H26.10.30] 1 R ) < a - T 100 20032 &
ggg %ilﬁl apot b lhes AL 0.60___0.00 39 20 0 rd 3 - ‘g :533, 1,428 7 300EB 8
515 b= H26. 10' 2 g - — _ - - - - _ — 20028
206 [E AR CE) R o T MT R T N 2 a a - - R .
Wh=m | H26.9.14 | 85 ' - - = — - - - OB ST
208 & 7 iR WhEmh H26.9.13 H%? 8‘ gé 2.60  0.50 33 5 9 q e - 5 39 710 2, 100[E 8 & AR KA E < KR Al
209 [{E%E ohsm e o T3 5 0.2 1.90 050 53 10 75 4 r - > 34 30| 1,000[EEE
210 124k R Tt 24 4 a - 101 56 810 7 600[a 6%
ST 15 TS50 (5 L 0191 130 050 2 16 21 < 3 - 7] 67 850 2 80035
212 liff R 1% R N 8 O T ) 5 12 4 4 - L 170 480186 R
23 IIFE (k) R 3 z 4 a - 104 6 40 T30/ RE
_ L ) hEd [ H6 914 W 0510 O TR R 2 14 < < - T8 S e
=2 LhEm 0. : : - 23 48 4 - T80iEB R
206 [055 SpeE e T 0.0 350 050 GBLE O 5 o4 i = 2|66 10 140z BR
517 {raie e L 0 ]o 370 050 53 7 5 < < - 10 55 80 200[iEB 2
2 UhErh | H26.9. 5 : : : 8 4 <1 = 2, 600ltE 5
550 TR (5 e Hgg g” E 8 fg 0.80_0.10 __56 7 5 < 2 = 10] 4 250 1 30[EB R
221 [B& (E) Chsm e o T = 0l 4100 050 34 10 5 < rl - 12 74 1,200 3.5005E
i %{uﬁﬁ hsh WO 8 0111300 0.50 GOLE 2 2 3 < - R 300 1. T00ES R
8/ UhEmh | H6.917| &2 : - — = — — - - . 1. 6002 &
224 TAE () R 9. ] 0.16 1.70,_ 0.50 36 5 7 4 - 5 38 80 2302 B8 HEBKLES KR
EEA (E) YT W60 201 & : — — — — — — — — 2, 400258
2 %ﬂ;c‘a A 21 027 TH 0% 8 i < < - TS T30 EEE FHEEKLTE KT
i UhEh | H26.9.16 | ™ ' 5 - — - - - - : i s
229 g%; LhEn 6010 % O N O 2 3 <1 < - &t 0T a0 Egg AR CRACTE
LhEdh ; ' : : 3 - AR R
S D Y T e
B CH) Wh =T 9 = - : : 7 ] — 1,302 B8
h=th H26.9.19 | #& 0.30 0.60 0.10 27 13 5 2} 2} - 8 35 820 2,500/ 8
51 2 180 5508 &1




I3 T ik [ P B T h =
AR Fri2 6 FEMHHERREND-OMBAERERE (WHhEHX)
KA
No % W % kgmﬁni&%ﬂi%'ﬁ‘“r JEETRES e
. 7 HETA Bl . | Z=mmE N TEV)H = T EIRE ; 8
AER | KR | T sgn | £KR RKR BRE BE SS (538 (BiBi%) R HET%@S’EE
) m) (em (B | (mg/L) (Ba/L) (Ba/L) gx |BXE Bk ESEL Y e
(cm) ©
233 [BH1E (XS = T3 *cs 1¥6s 13405 g 134 137
231 [t L 1 T
235 [F#E 0 (T) e R e 020070010 @HE 5 15 < < = 61 801 2400 7200185%
236 [ E D () LhEm [ H6.9.19] ST 030 010 6 E 4 13 < < - e 1200 ShOWERZ
237 [T D fE nhEm  [W6919] B 0.26 | 0.40 _0.10 60LIE 5 9 < < = 5] 36 470 1 300[fa R
s nhEm [ W69 19| 090600109 3 3 A < - (- 780 aen
bi Wh=ETH 9 = - : : 3 6 < - 45012 &7
e e e
= Y B -9 L] . . . 29 39 — 000252
247 [T XF Lpgm [Heofel B 022 060 010 28 10 1 q a - E— 1o A04E 5T
203 5 () Lbem [f6otsl B 1 O2t] 160 08 & 3 7 < a - 81 2 160 S0[EER
244 [BOTE (F) R o T LR N 8 o O N v 3 3 < 4 - - 350 9M0UESR
225 [ (E) R e o Ta i 071 080 0.0 2 19 10 < < = §1 4 390 1.200[{85R
246 [KfE Chem [H6 020 & bl Lo 0 4 9 5 4 A - -t 1,000 3. 000i#25 %
I — npsT W00 8 T 0500058 > : < < - 6] 55 650 2. 00012
LT Lpgm (Mool R 0171050 010 WBE 3 § < < - % T 00EER
B (T) O ET H26.0. = : — = — — — - - - NEEETS
250 [S5 (1) R oL g}g £ 8 gg 040010 32 8 9 < 4l = 11 53 20 0[EaR A KD < K Al
251 [# TR (F) Lm0 918 3 . 020 010 114 50 a 3 - 101 33 120 S60[EBE ;
257 [/ 5 (@) ChEd [ H6.920] 0.17] 050 010 58 9 3 4 3 - g1 4 310 980|325
253 B/ 1k (£) R I 0 3 N 31 8 4 < 4 - 81 81 2200 6.000MBAR
e
B ) WhEh g = : : : 11 22 - RS
556 TR (D) L\_y)g; :gg g 12? ] 0.15 ] 0.50_0.10__75 6 9 2 2 - 12 47 340 990iE B2
257 [{ERF (2) hEm [ 6920 & 0.1 [ 120 050 47 7 4 < 4 - s 120 I EECT
ERETOBR A e N 012 0.80 0.0 44 5 7 3 a - 12 58 330 1,200 BE
259 [It 7 G e e 20T i 025 09 010 89 T 8 < 3 - 71 % 140 440/35 5 &L
260 |thiE e R R 0.14 0.60 0.10 52 5 8 <1 < = 4 46 3,900 11, 000252
261 [BR hEm [ 126922 & 0.70] 450 050 4 5 1 4 4 - 61 31 150 100[E 5 5
267 (155 O RTE e B g e 015 | 200 050 78 7 7 34 a - 8 3 6,300 20000258
22 oS [ W07 | o 013] 030 010 75 5 ) < 4 - 3|43 220 TR
264 [HEH LhEm | H26.9 20 ] 5 T - - - - - - A D
265 A HfE (L) W& [ H26.9.21 0141 060[ 010 48 9 9 4 3 = > & 20 CO[fBE R [FAE P KpHE < KA
266 | F— Lh=m | H26.9.20 - 060010 GOLLE 1 § 4 4 - 12, 440 1.400/#2 57
267 [ LhEm | H26.9.21 0141 080 010 5 1 5 4 a = . 100 270iEB R
R Lpeh | H69 21 011 | 120 050 b1 29 21 < < - 349 10 06 R
269 [fEX WhEd | H26.9.19 0.12[ 190 050 68 1 2 < 4 - 2, 4 280 860/#E 5 R
210 L OF W& | H26.91 0131 0601 0.0 40 7 7 3q a = 3| 68 800 7.800/eBk
271 (Bl (7 ChEm | H26.9.1 R 12 8 a q - 1 2 %0 260148 5%
RS ey Loem 65T 2 011070 010 5 7 g < < - 6] % 70 2068
213 AR LhEm [ H602 | 101 060 010 37 13 13 < 3 - S 350 1. 10014854
24 (L e (D) hhEm [ W60l | % 008 | 060 010 77 10 15 4 4 - A" §20 1J00EEA
205 |8 hEm | W69 & 0.10 [ 0.30 0.70 35 9 9 4 < - 101 4 80 2202 B R
276 [INEB LhEm [ H69.8 [ & 0.08] 030 010 15 32 75 A 4 - 81 4 300 OTOFEB IR
27T (B fE LhEm | W699 | 0.10] 080 010 6 9 4 4 4 - 01 1 220 IEEEET
278 [ Cher 600 & 0.1 [ 530 050 68 7 5 g 3 - 101 66 410 1.300[55 %
279 | % Lpsm L0951 15 070 050 010 33 1 g 4 a = 71 81 1500 4 0001iE5R
A&/ B WhEt [ H26.9. = : - — - = = = - - T 500 B8
T e i —Eae
B Ry = = - B . 5 — &8 5
P54 T LhEm (09171 W 017 | _1.20 __0.50 6OBLE 2 o d i - 2 | 46 750 L rT
285 [{ERF (3) ChEm  [H69 0] & 0.13[ 020 010 20 20 36 4 q - 121 & 390 1.200[f8 5%
286 [ 15 et [ H26.0.15] & 01| 060 010 63 Z g 3 4 - 61 60 280 ENEY ]
287 [BIITTE LhEm | W6.92 | 0rd] 0% 070 17 2 20 4 3 - L4 280 8502 B
28 [E8 nhEm (6915 & 101 060 010 3 8 T < 4 - — 60 160liE R
ggg Eﬁiﬁg LhEm [ M69 15| & 8'}? 070 070 GOBLE = - - - - g gg g?g SRR
5 2 m 9. = . i s 1 580|355 B Er < = =
Wbt | 26022 0131 040 010 41 0 i - -+ - 8163 0 e BB AL AR
670 70 T80/ 58




AR T2 6 FEBBETREND-OMABLR (WHEHK)
KERERR EERERR
I ﬁszs?%%g;%rﬁ mf{%%%g;;%rg - H&IET%Z%FE),%E
No. & W mEAT | BER | K& | T on | £KR KR BBE BE  SS i o X | ak= e EHEEK i
(uSv/h) ) . (om (B e/l (Ba/L) (Ba/L) ,(;Ea; (%) (Ba/ke)
13408 137CS 134CS 137CS cm 13408 137CS
AINESES LhEHm | W691 | = 012 0.30 _0.10 60ELE 2 ] < < - - 5170 950 2 T00[fEBiE
292 Siﬁ/c!%{’ﬁétlﬁl WhEh H26.9. 1 = 0.09 0.40 0.10 33 28 37 <1 < - - 6 46 120 3902858
293 [#XSE (E) WhEm | H26.9.18 | B 0.13 | 0.80 _0.10 23 11 7 < < - 12| o4 500 1.500[fe B
294 |HR WhE H26.9. 18 [ 0.17 1.10 0.50 32 22 9 <1 <1 - - 12 57 2,700 8 300258
29 [/ R (E) WhEm | H26.9.28 | B 0.16 | 040 0.10 32 1 36 < < - o I O 70 2. 400[teB R
296 ﬁ?k WhE H26.9.18 | fREE 0.12 0.80 0.10 62 4 3 <1 <1 - - 12 4] 260 80[2E R
297 AR (E) WhEm | H26.9.18 | B 0.14] 090 _0.10 6 5 5 < < - S I O I 2,400 7.000[fe B
ggg ?gﬂs t:')gjj :gg g 12%73 EE 8 %é 0.40 0.10 29 22 35 <1 < - - 5 65 1,500 5 2002 &8
5 hEm 9. £ . = — = = — = = - 12 43 150 10[Ee % FEE KD KA R
300 [#t LWh=Eh H26.9. 17 = 0.21 1.70 0.50 26 14 19 <1 < - - 8 64 480 1,500 E%;‘: HREANR AT
301 f«f V;J:) t:-a;j 26979 | g 0161150 0.50 63 1 9 < < - 12| o4 290 1.000[fe B8
hemh .9, 5 . — — - - - - - - - 5 50 90 300|EE R RERKHOE < BKFR
303 |FE WhEm | H26.9.28 | B 0.19 | 040 010 30 6 1 < < - - 839 70 230 EEE e
304 |2/ WhE H26. 9. 28 3 0.14 0.40 0.10 25 23 18 <1 <1 - - 10 56 680 2, 100258
306 /M WhEm | H26.9.19 | B 0.19 | 090 010 44 9 6 < < = = 363 950 3. 000[fe B
306 1’Eg=))\ WhE H26.9. 19 EE 0.27 0.20 0.10 11 68 210 <1 2 < <1 6 15 650 2,000[2 58
307 Il\—)s;s{’ﬁ t:-a;j 269201 & 0201 0.60 070 T 5 9 < a - P 40 5058 &
= hEmh .9, 5 . — — - — — - - - - 5 37 130 380|EER BN E KT R
309 EiifﬁEH WhEth H26.9. 16 5 0.34 0.30 0.10 50 1 8 <1 <1 - - 8 23 390 1,300 EEE R CEATE
310 [E=/ 3% WhEh [ H6.9.76 | BS 024 040 010 57 2 4 < < - 10 7% 4107 1, 300[f 5%
g}; ?%E-f-EI t:'ogi :gg g 13 :E 8 %g 0.70 0.10 43 2 4 <1 <1 - - 1 27 20 0[EEE
1 m . 9. . - - i - - - - - — 2ER R N 3 M
APNG] LhETh W6 0. 5] i 0.23 - - 5 @ 350 T T00[iE&R S K B < BBl
= DET g . 2. 60 0.50 48 8 11 <1 <1 12 52 720 2,200[25 2
314 %ﬁftﬂz t:-»agﬁ 26913 | 8 0291 050 070 12 23 20 < < - 12 63 170 580[tE 5
BT E hEmh .9. 5 . — — - — — - - - - 1 53 530 1,700/ 52 FERKNE BKTH
316 AR M WhEm | H26.9.14 | B 033 090 010 39 9 15 < < - 12| 48 20 50 iggté FARRTR AT
317 [AF# L\")é’ffi H26.9. 14 i3 0.26 2.90 0.50 89 6 23 <1 <1 - - 1 43 430 1,300 58
318 [HLDIE (F) WhEi [ H6.0. T4 B% 0.27] 130 050 36 9 1 < < - 12 15 720 2. 000[te & &
319 [E{-HMAM L\")%E H26.9. 13 i3 1.87 0.90 0.10 34 20 38 <1 <1 - - 12 36 2,100 6, 200252
320 | PG ER WhEm | H26.9.12] 0.25| 150 050 8 5 4 < < - I - 840 2 600[tE &R
321 iEHr (k) L\")%‘E H26.9. 18 i 0.17 — — - - — - - - - 6 60 380 1,200 58 SR KDV < FIKA A
322 [ PR WhEm | H26.9.15 | % 0.12] 020 010 13 28 34 < < - 0 57 300 950[ 18 & &
323 $§1’IE~ L\")%Hj H26. 9. 21 i3 0.14 0.90 0.10 33 17 11 <1 <1 - - 8 45 150 460|258
324 [ AR WhEih | H26.9.21 | W 0.14] 090 010 50 7 7 < < - G0 75 1,400 4 200[f 5%
325 |1l L\")%‘[h H26.9. 22 5 0.10 2.50 0.50 88 5 3 <1 <1 - - 3 63 490 1,500 58
326 [R (1) OhEih | H26.9.0 | 0.17] 050 010 Ti 3 6 < < - 0] 76 770 2. 600[fe 58
321 Estiﬁﬁ (3) Wh= i) H26.9.9 [l 0.15 0. 60 0.10 27 16 11 <1 <1 - - 10 66 790 2,100[#2 52
328 %g @) t:'b§;1 6921 i 0151 050" 070 23 17 6 < < - = 5[ 57 220 65012 5
B hEm .9, = . — — — — — - - - - 5 26 <10 10|28 RAERKMNE FKAA
30 fagﬁ tvo;a 9171 2 0171 040 070 57 6 5 < < - - 7] 28 400 1,200 %gﬁ FRRASR AT
i ‘hEh 9. 2 . = = = = = - - - - 5 % 50 18058 & FIE B KAV < UK A
330 [HEATE WhEm | H26.9 15| & 0.15 = — — = = = - - = 5|28 50 14056 & A KA UK
333 i@/ iR WhEth H26.9.2 HE 0.10 0.40 0.10 59 4 1 <1 <1 - - 3 50 250 800|E &
334 [JIEFR OhEh | 2692 | = 011 050 010 57 1 1 < < - - 5 43 410 1.000[85%
335 |&E _ WhET H26.9.2 5 0.14 0.40 0.10 51 6 11 <1 <1 - - 5 67 670 2,100[#2 52
336 [¥ /& (kM) OhEih | H26.9.2 | 0.12] 050 010 10 27 27 < < - = 7] 53 600 1. 700[fe &R
337 = / 1'5 Wh= i) H26.9.9 5 0.13 0.30 0.10 91 1 15 <1 <1 - - 1 65 260 930|EEE
338 [ENNE WhEih | H6.0 21| W 0.12 — — — = — - - - = 572 860 25005 % A KA C FOKA AL
339 SE#}E#E WhET H26.9. 15 = 0.20 0.20 0.10 10 4 10 <1 <1 - - 5 74 40 130|258
340 [FR ALt WhEih | H6. 017 W 0.14] 030 010 38 6 5 < < - = 8 17 30 0[EER
341 [Ea/MEEE L\")é’f‘ﬂz H26.9. 17 Z 0.08 0.80 0.10 11 20 14 <1 <1 - - 1 40 20 NEEE
347 [HBEfE LhEh [ H6. 917 &= 0.12] 040 010 45 9 10 < < - - 6 210 620[12 5 2
343 [B{EFAE L\")%fz H26.9.18 | fREE 0.14 0.90 0.10 46 4 3 <1 <1 - - 12 55 630 1,900 58
344 [3LiR WhEih | H6.928 | & 0.23 | 040 _0.10 28 16 20 < < - 10 70 2300 7.100[ER
345 [FriR WhET H26.9. 19 HE 0.19 0. 60 0.10 60LLE 4 1 <1 <1 - - 6 69 800 2,300[2 82
346 [/ & WhEM | H698 | = 011 0.5 0.10 8 160 340 < < - | 15[ 53 300 89012 5 2
347 ¥R WhEh H26.9. 8 0.10 0.62 0.10 38 10 28 <1 <1 - - 5 49 370 1,100 88
348 [ iz WhEm | H26.9.8 | & 0.09 [ 021 010 21 120 200 < < - 70 40 110 N[ESR




AR FR2 6 FERMEETRENDE-OMRAERER (LWHEHR)

KERERR EERERE
e REEDERE | REEWERE | AR R
No. & miTe | MR | KR |XORE) sae mam mmE O BE SS ol Wi BR |axs g ES TS %
1
(m> <m> ( Cm) (g) (mg/L) 134 137 134 137 (Cm) (%) 134, 137,
Cs Cs Cs Cs Cs Cs
349 [{E@AE WhEH H26.9. 8 = 0.12 — — — — — - - - - 8 57 130 450|2 B8 SAERIKHAE $FKFA
350 (A4 (E) LWhath H26.9. 1 ) 0.08 0.40 0.10 19 40 86 <1 < - - 7 60 270 840[FBE B
351 [db/ 48 (Eb) WhEh H26.9.9 i 0.08 — — — — — - - - - 8 33 190 [T SAERIKHAE IFKFA
352 [R@E (k) WhEth H26.9.9 fE 0.10 — — — — — - - - - 8 61 90 300[Fe B8 SRERKHAE KT
353 |&RHE (f) WhEth H26.9. 8 ) 0.10 1.00 0.10 43 8 10 < 4 - - 3 I3 310 0|2 B R
354 |fRiF WhEt H26.9. 1 = 0.12 0.30 0.10 15 13 13 <1 4] - - 6 39 190 620[F2E 8
355 [&KHT WhEh H26.9. 2 0.11 0.50 0.10 30 10 13 < 4 - - 7 59 300 950[2 B8
356 [¥zE (k) WhEth H26.9. 1 0.12 — — — — — - - - — 8 44 180 410[e B8 SRERKHAE KT
357 [Eir5 WhEmh H26.9. 2 0.11 1.30 0.50 42 8 11 < 4l - - 10 35 80 202818
358 [/MES WhEth H26. 9. 28 0.12 — — — — — - - - — 5 32 40 140|f2EB 18 SRERKHAE KT
359 [fLiZE WhEth H26.9. 1 0.08 0. 40 0.10 34 4 5 < 4 - - 8 37 320 90[E B8
360 [A/ 1 (E) LWhath H26.9. 1 0.11 0.50 0.10 16 15 14 <1 <1 — - 10 43 260 890[:2E 2
361 (H/ & (F) WhEmh H26.9. 1 0.08 0. 40 0.10 37 4 7 <1 < - - 10 34 120 KEEETE]
362 |22 WhEth H26.9. 1 0. 06 0.30 0.10 44 8 7 <1 < - - 4 63 200 640[F2 B2
363 [HE WhEth H26.9. 1 0.11 0.20 0.10 20 10 11 < 4l - - 10 68 630 1,800[{2 B8
364 [RKHA LWhath H26.9. 2 0.11 0.50 0.10 601 E 4 3 <1 <1 - - 10 40 120 410[2 B8
365 & WhEth H26.9.9 0.07 0.50 0.10 38 13 11 < < - - 12 57 1, 400 4,300|F2a B8
366 [HE Whath H26.9.8 0.15 0.90 0.10 53 8 6 <1 < - - 10 74 100 JI0[eEB 8
367 |RE/ & LWheEth H26.9.9 0.13 — — — — — - - - - 5 6/ 110 340|EEE SREBIKHE <$FKFA
368 [#£@E WhEth H26.9.9 0.12 0.50 0.10 55 6 7 <1 <1 - - 7 73 890 2,800[&2E 2
369 [HE A LWh&Eth H26.9.9 0.10 0.50 0.10 60LLE 4 4 <1 <1 - - 10 51 150 480[2E 8
370 5T/ E WhEth H26.9. 2 B 0.14 0. 40 0.10 60LLE 4 11 <1 <1 - — 6 43 370 1, 1002 B8
3N |BE= Wi H26.9. 1 = 0. 06 0.50 0.10 47 10 9 <1 <1 - - 4 45 230 690|258
372 |[m&2% WhEth H26.9. 2 [ 0.08 2.80 0.50 61 3 5 <1 <1 — - 15 64 740 2,300[&= B 2
373 [/ VERS SRRt LWheth H27.1.26 f& 0.14 1.70 0.50 22 9 9 <1 <1 - - Y 49 1,700 [REEETES
374 | FEFEI=6Hith WhEth H26.8. 27 55 0.14 8.85 0.50 60LLE <1 <1 <1 <1 - - 5 60 860 2, 700|FILEHB
315 |R& LWheEth H26. 8. 22 R 0.16 0. 60 0.10 60LLE 1 5 <1 <1 - - 4 52 340 1, 000 EBEB




